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 Answer any three questions                                                                                                        5×3=15 

1. (a) Why is CE configuration widely used in amplifier circuit? 

(b) Consider the voltage divider bias circuit of fig. given below. Assuming β=260,       

VCC=12 V, Rc=560Ω, RE=680Ω, R1=22 kΩ and R2=12Ω. Find IB, VCE . 

                                             

                                                                                                                                                2+3 

2.  (a) Derive the expression of the high frequency gain of a single stage RC coupled    

amplifier                  

     (b) Why do we neglect the junction capacitance in low frequency signal analysis? 

                                                                                                                                             4+1 

3. (a)  Draw a pin diagram of an OP-AMP.  

    (b) What do you mean by offset voltage of a practical OP-AMP circuit?  

    (c)Two input voltages 𝑣1 and 𝑣2 of the circuit shown in fig below are 200 𝑚𝑉 and        

100 𝑚𝑉 respectively. Find out the value of output voltage 𝑣0.                                   1+1+3 

 

 



 

 

                                      

4.   (a) For the circuit of the figure given below show that the output voltage is  

𝑣0 = −
𝑅2

𝑅1
𝑣𝑖 − 𝐶𝑅2

𝑑𝑣𝑖

𝑑𝑡
  

                                      

 (b) Suppose a sinusoidal signal 𝑣𝑠 = 10𝑠𝑖𝑛2000𝜋𝑡 mV is applied to the input of the OP-

AMP integrator with R=1 MΩ and C=1 µF. Find the output voltage.                                3+2 

5. (a) Draw a circuit using one or more OP-AMP whose output v0 is given by 𝑣0 = 4𝑣1 +

6𝑣2 

(b) A moving coil meter is connected in the negative feedback path of an OP_AMO as shown 

in the figure given below. The meter shows full scale deflection when a current of 100 µA 

passes through it. Find the value of R such that the full scale deflection is obtained with 𝑣𝑖 =

10 𝑉                                                                                                                              3+2 

                                    

 


